General Mathematics Paper: 11 ((":u'lf 11 sl $s2E) 1A 223 II 24 u“ (1%

Time: 2:10 Hours Group: I v:/ﬂ;; & 2:10: 5
Marks: 60 Subjective é_@_f 60: ‘/;L
Note: Section I is compulsory. Attempt any THREE (3) (3) (,-Jf & (jf P ufr» o ey Jilo s
uestions from Section II. : . =i
i Section I (Jil.o @y =23 .é’fu”r
2- Write short answers to any SIX questions: (2x6=12) -211: //’...uyﬁé..mr(s) éc_Jf =2
- If PX)=2x>+2x >+ x—1, then find P(-2) 2 P(-2) i PO =2+ 2% +x-1 A i
ii- Solve by formula. (5)(-6~3y)2 +(5 x—3y)2 ] & x+3y) +(5 x—3y) éd’c. il il
iii- Define mixed surds. &S e i
iv- Factorize 2a’ - bc—2ab+ac 2a’-bc-2ab+ac  ZE $7 v
v- Factorize x> —x—156 x> —x-156 édf -V
vi- Define improper rational expressions. EE il Groan g i
vii- Find H.C.F: by factorization t2—9, (t+3)° e Fe 3 LGEK -9, (143) i
viii- Find L.C.M,by factorization 7 pbqﬁv Sbrls3 $F gk v
]2p3q2, 8p qr,4pqr l2pq,8pqr,4pqr
ix- Factrize 8x°- y 8x —y3 éu’/’ -ix
3- Write short answers to any SIX questions. (2x6=12) -é;}..-.-.uz}"’[..-.mr(s) Z!c_qj:( -3
i- Define linear equation in one variable. e Gk VAL -
“ii- Solve  3x+20 =44 3x+20=44 2 F i
ii- Solve  [2x-3|=5 px-3=5 LS i
iv- Solve by using factorization method x2-4x-12=0 x2—4x-12=0 écfdf;.;'/% -iv
v- Solve  (2x+1)(5x-4)=0 @x+1)(Sx-4)=0 £J v
vi- Define row matrix and give one example. & Je _{ 9] 21-7 .41/7 J AT i
vii- Find transpose of given matrix B = [:? —ﬂ B= [::: —j:l ér)"/’x;’]} AL L, il
viii- Find the matrix product [2 5] B _31] [2 5] [; —;j| 2_:’/(}"‘..:4/3&"(’ Fuse  -viil
ix- By solving, find that the given matrix is st et oS LSS i
-1 3 -1 3
singular or non singular [ 1 - 3} [ 1 - 3:1
4. Write short answers to any SIX questions. (2x6=12) -.é ;f.-,u,z/‘"‘z:.-,mr(s) éc_‘;f -4
i- Define equal angles and draw diagram. -& b g}éul é.&/}J{—,U Sabr i
ii- Find 'a’ and 'b’ in the following diagram ek vaa st Pdivs i
b b
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iii- Define sector and draw diagram.
iv- Find the third side of a right triangle with hypotenuse ol
a=5 , ¢=13 , b=?
v- Define cuboid and write formula of its volume.
vi- Find the vc-)|ume of a cube whose each side is 4cm
vii- Find the distance between the points (a,-b), (b,-a)
viii- Locate (3,6) in the co-ordinate plane.

ix- Define collinear points.

(ujﬂ 4 LsZ g A8 Lrp

Note: Attempt any THREE (3) questions.
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@ if—= V10 +3 then evaluate ( - —)
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x“ -1 x> +8 ) x2+1

X &
X2+ x+2 x4+4x2+16 X3+2x2+4x
(a) Factorize x'z—y'2
x-2 2 x-4
(o) Solve ——+ - <——
4 3 6

(a) Solve by completing the square method
11x% =6x+21

(b) Solve, by using matrix inversion method
3x-y=10, 24 3y=3

6gﬁz/e—2$
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llx2 =6x+2!
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3x-y=10,2x+3y=3

4 2 . 42| .,

@ If A =[5 4] , then verify that AN =A'A=1 éfzﬂg}/ AN =A'A=17n A :\:5 4} Si (L

(b) Draw a rectangle whose adjacent sides are 3cm sl 4cm U S ouo b L e Jf"”,p ()
4cm and 3cm. ~Ux

(a) Find the volume of a cuboid box, with lenth 4m, e 2m ij;l 1 3mdiig 4m L}LJ SUisu AL (D
breadth 3m and height 2m. o f

(b) Show that the points A(0,2),B(3,-2) and C(0,-2)

are vertices of a right triangle.
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General Mathematics
Time: 20 Minutes Group: II

Marks: 15
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Code: 7266

Iy /?Ju '

PLdA
.7:;!/” @0 201 &
q UHQ\B 15: Lfgl-

e é_,b? Esy e e USSs éfé.: &b LJIV/; £ QKL}LZ -ujéé.: DsiCeB¢ Atz ,f/_lg L/.J‘rﬁ Loy
AN -2 0 S :;/:‘JL//;’, So¥ L L//, J/LJJ/”J 03k c.ug LTY P ) S0 S oo S

1-  1- In a ugit matrix, diagonal elements are

0 (D) 3 (C)
2- The sum of angles of a triangle is
360° (D) 270° (C)
A
3- Ja =a’? is a surd of order
1
A (D) 0 (C)
4- Solution set of }x\ =3is
{o} © {+3} ©
5. Volume of a cube with edge " ¢" is
3¢ (D) ¢ (©
8- The co-ordinates of the origin are
(0,0) (D) (0,1) ()

7- Aline joining one vertex of a triangle and perpendicular fo its

opposite side is called
median 2 (B)
side bisector 4 (D)

8- Area of rectangle is /

¢ (D) |

—;—(exb) ©

9- Solution set of x> —5x+6 =0 is (

b3 o 23} © |
10- If P(x) = x°=2x°+5x+1 then P(l) I
0 (D -7 (© |

11- A value of the variable which makes the equation

a true statement is called the
solution f (D)
12- (a+b)’ ~(a—b)> =?
-4ab (D)
13- Number of methods to find L.C.M are
3 (D) 2
14- in matrices (AB)t =?
B'A' (D)
15- A point in 4th quadrant has its ordinate ;
one £ (D) zero /’ﬂ{(o)

constant J,r/ ©)

113-(I11)-1°*A 223-37000
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General Mathematics

Paper: I (foutf « IT o YubE) 1°A 223 I ¢ Fldz
Time: 2:10 Hours Group: II 7;)7/» & 2:10 : &5
Marks: 60 Subjective dﬂ U J’—’lﬁ- 13 60 : J( L

Note: Section I is compulsory. Attempt any THREE (3) (3) u.’:_.J & u.fr”,..o _+D’JU it cnd

-éd’u Uy

questions from Section II.

Section I ()il o
(2x6=12)

i- Define rati.onal expression and also give its one example.

2- Write short answers to any SIX questions:

_J/;’..,uyf".c_uw(s) &l 2
S SFe L Sz
e deut Pyi e L e,

25a°b?
14a%*
- S el 8
3ax+ 6ay-8by—4bx zf_i/u’f

-

ii- Reduce the given rational expressions to lowest terms
25a°b*
14a%p*

ii~ Define real numbers.

i

—iii
iv- Factorize 3ax+ 6ay—8by—4bx

~iv
v- Evaluate the polynomial for the indicated value ’é/(‘)"’o{" J L?//?/ZJ_ L ..w,,"' u’fd) -V
Px)=x*+4x’-9x%+19x+6 , P(-2) P)=x'+4x-9x’+19x+6 , P(-2)
vi- Find H.C.F by factorization abxy, abe abxy, abe ’.ér)-’” (y’l;(c df.”,.:u), -vi
vii- Find L.C.M by factorization & b Pl GF 04 i,
21a4x3y,3532x4y,28al3xy4 21a* xy 35a°x* Y, 28axy
viii- Write down the methods to ristermine the square root L 58 P ;;"w.‘r!"'il”"‘u:g YUk g i
of algebraic expressions.
ix- Find the square root of 49 x” « | 12 xy+ 64 y2 by p"’m v arfPiee O 4947 41 12 Xy+ 64y2 -ix

factorization.

=

3- Write short answers to any SIX questions: (2x6=12) -é{;uy}’/#éumf(e) éa,(jf -3
i- Solve 3(2x+5)=25+x 32x+5)=25+x Zf i
ii- Solve |3x+4| = |3x+4|=9 =L f i
iii- Define linear inequalities. W&k .Jy/JJu;t//ful"‘ _fi

iv- Solve by factorization method x2—6x+5=0 xP-6x+5=0 & SSFP0 -iv
X X
v- Solve Z(X+1)=3 Z(X+1)=3 Zf v
vi- Write down the names of methods for solution of _énffrc Lustl pr‘”‘.&,n)’ K etlbs Gurn  _vi
quadratic equation.
vii- Define Row Matrix and give one example. T Jé ..,“Cluf guy/‘"p(db“ S _vii
VmF.c'“h ecoroduet |2 31 -1 2 =31 - ” .
ind the matrix product i alls —» i 2llo =2 | & (PP K ude v
ix- Verify that given matrix is singular or non-singular st e A6t 6 s ,?/,cff’cff.:f,& _ix

o)

4- Write short answers to any SIX questions:

i

4 9
ezl 6) el _a

S oL LU

g

(2x6=12)

i- Define reflex angle and give one example.

ii- Define rectangle.

(é’.’JJJ)




-

Ll

5-

iv-

Look at the given figure and give
answers of the following questions.
a) Write pairs of corresponding angles

b) Write pairs of complementary angles

Find angles 'c' and 'd’

QuF-2+23
Eralz Loetr S3tn S S PES i
S fein Lo S (U
S fe 2 & Ugs g il (o
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v- Draw a semicircle with diameter 4cm and centre at 'O’

vi- Find the hypotenuse of a right isosceles triangle whose

Vii-

iX-

(a)

(b)

(b)

legs are 8cm.
Find area of a triangle whose Base=8cm and

Altitude=15cm

viii- Locate*(-8,-8) in the co-ordinate plane.

Define collinear points.

(Uf/:} 4 LJZ; 2 /} 8 Ld”’/.‘)

Note: Attempt any THREE (3) questions

. . b+ b2—a2
Rationalize
b-vbi-a?
a2+ab+b2 az—ab+b2
Simplify +
a+b a-b

Factorize 64 x7 - xa6

Solve m-13=+m+7

Solve using quadratic formula
Q2x+4) - (4x-6) =0

Solve the following set of equations using the
matrix inversion method 3x-4y=7,5x-7y =12

A—26 B~—] -3
lf—78,~20then

verify that (AB)' = B'A"
Draw a circle passing through the three vertices of

an equilateral triangle with length of each side 4cm

" Calculate the radius of a sphere of volume 850 m’.

22
take T=—
7

Show that the points A(6,1),B(2,7) and C(-6,7) are

vertices of a scalene triangle.

113-15tA 223-37000
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General Mathematics Paper: II (Ut « IT &l (u4E) 15tA 223.(v) I 24 Wz
Time: 20 Minutes Group: I -Objective U’_".ﬁ *,j s 20 1 &y
Marks: 15 Code: 7267 67 74 DR 15: U0

b Loz oo e Ui Uss c.‘:é.) &Ly s 4 Qb’dw _urzfz.; DsICeBe Al .fz(v Cdrs i ad
ot s s 7ol R e LSS LS LS st nli el s Kol S fn/b..dv

1. 1- Alinear eguation in one variable is of degree - by on sl J” (B ;"‘..{ 1 -1
3 (D) 0 (C) 1.(B) 2 (A)
2- The number of methods to find L.C.M are G B AL S Pk 2

3 (D) 2 (C) 1 (

3- Aline joining one vertex of a triangle and perpendicular

0 (A)

- t’llgv(»f{ é"._a)lfc, UL edi |3

to its opposite side is called.
side bisector ...M:Ké"’ (D) altitude LW/ (C) median - (B)  angle bisector Ll (A)

4- A straight angle contains - bt 2u Kg‘“‘/,su -4

360° (D) 270°/(C) 80° (B) 90° (A)

5- Solution setof x2 =1 is . cedr S¥ 5221 25
1} © {i/i} ©) it ®

6- (a+b) +(a—b)2 =2 (a+b)? +(a—b)2 =2 -6
2@*+b%) (D) 4ab (C) —4ab (A)

7- In a square matrix, the number of rows and columns is 3§ U s U g -7
2x1 (D) same ULf (C) 3x2 (B) 2%3 (A)

8- If x - a is a factor of P(x) , then P(a)' = 11 W37 6 P(x)«x-a A8

a (D) -a 1 (B) 0 (A)
9- Area of Square with side 'S' is e b 'S d“ . (‘,’-["L:u Ll -9

52 (D) 2S (C) 45 (B) 'S (A)

10- Surds can be multiplied, if they are of the ~U o fl‘g G’C(g S ...J/J’f(‘i 26 _10
order2 (. (B) same order J,?/;ul/f (A)
order'n' J 'n'2s (D) different order Ju,z,;_&f? (C)

11- H.C.F of 6par, 15qrs is - b ¥ Bpare15qrs -11
15pgrs (D) 3pqars (C) 3pgr (B) 3ar (A)

12- Points which do not lie on the same straight line are called. gl un s (5!:4 BLI7 bl 12
zero # (D) equal Hl~ (C) collinear £3(% (B) non-collinear b‘(?;? (A)

13- A quadratic polynomial is of degree - tnonk L?j P AT
3 (D) 2 (C) 1 (B) 0 (A)

14- Solution set of [x~3|=5 is ce e |x-3|=5 14
{8,-2} (D) {8.2} (C) {-8,-2} (B} . p {-8,2} (A

15- Number of altitudes in a triangle are. LU s Qi el L 15
4 (D) 3 (C) 2 (B) 1A
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